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Navigation

A) An airplane is {lying on @ £ 135 at 435 mph. Find the component form

of the velocity of the airplane. N °
_ ¥ = 435c0% 315
r% )
Y= 43551a 315

@-(ro o ot w B) An airplane is flying on arfCompass heading(bearing)
' 3z is blowing with the bearing 220" at 30 mph.
Direction angle - Find the component form of the velocity of the airpane.

F\: , X = 0 cos 1357 =-212.13L = A
Y= 300 sin135° = 212132~ B
Bea.ra"ﬁ%”.( !‘ i ;Ml?"‘ ijchhe component form of the velocity of the wind.
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N - Find the actual ground speed ang m- iplane
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6= direckion angle

— {com posSItive x-axis
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ht(L5-mply/ The current is ﬂu\vin@w
'M' f the ship.

ship: X:I‘;cos)'?bv =0
y =15 51 270° = ~15
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Shooting a basketball: A basketball is shot at an angle 65 with an initial speed o
12m/sec.

194,352
from Neacth

a. Find the component form of the initial velocity.

b. Give an interpretation of the horizontal and vertical components of the velocity.

Combining Forces: A force of 40 Ibs acts on an object at angle of 207 . A second
force of 65 pounds acts on the object at an angle if - 25", Find the direction and
magnitude of the resultant force.
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